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1.



2. Let ~D1 = [5m, 4m] and ~D2 = [−1m,−3m].

(a) Calculate the components of the sum of the two vectors. I.e., find ~D1 + ~D2.

(b) Draw ~D1, ~D2, and ~D1 + ~D2, and convince yourself that the geometric (tip to tail)
view of vector addition is the same as the addition formula you just used.

3. Let ~D3 = [3m,−5m] and ~D4 = [2m,−2m].

(a) Calculate the components of the difference of the two vectors. I.e., find ~D4 − ~D3.

(b) Draw ~D4, ~D3, and ~D4 − ~D3, and convince yourself that the geometric (tip to tail)
view of vector addition is the same as the addition formula you just used.

4. Consider the following two vectors:

~A = −4mx̂ + 6mŷ , (1)

~B = 10m, 53 degrees south of east . (2)

(a) What is the magnitude and direction of ~A?

(b) What are the components of ~B?

(c) What is ~A+ ~B? Express your answer both in components and in magnitude/direction
form.

(d) What is 3 ~A? Express your answer both in components and in magnitude/direction
form.

(e) What is ~A− ~B? Express your answer both in components and in magnitude/direction
form.


